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D - 45 shown inthe Jollowing Matrix , a Manager of small Production Factory decided to reach a

Maximum Profit .By using { Hungarian Method } - Compute the Optimum Assignment to distribute available

Jobs onto four Industry Engineers?

JOBS A B C D
ENGINEER

El 100 30 20 40

E2 90 40 10 30

E3 80 30 10 30

E4 70 60 20 60
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C—As shown in the following table , there are seven jobs , each one which has to go
through two Machines X, Y. In the same order ( XY ) ,Processing Time is in




hours. Determine the Optimum Sequencing by using[ Johnson Algorithm] , including
the follows:

1. Total Elapsed Time.

2. Idle Times.

3. The usage efficiency of each machine
4. Waiting Times .

Jobs) A B C D E F G
MC
Machine X 3 12 15 6 10 11 9
Machine Y 8 10 10 6 12 / 3
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C. Monthly Demand for a product over the past year ,as shown below :
Using Moving average method withn =3 ,and n=6 , to produce one period
ahead forecasting . By drawing a simple diagram for each and clear up your

conclusion on your results.
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